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Find the measure of /L in the
irapezoid below.
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Jehics DEFG ol JS0

Quadrilateral DEFG Is a rectangle.
Hfmesl = 25°, find the measure 22 i aay omesl = 25° o W

of 22,
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Which of the following

quadrilaterals is a parallelogram
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Sel unction il pasall alolal

Lol A = [5.10,15.20)
and B = (3.6.9.12,15)
Find AnR

15.10,15.20)

{1510}

d (36,9 12.15]

A

(5.10,15,20)
{3.6,9,12,15] ,
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Set builder degasnall cliy

Which of the following statements fdaga.a AJEN Sl gl

is true?

b (ab)<(abc D
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Quadrilateral ABCD s a rhombus. .ama ABCD s JESB
i DC = 13, ind BC. BC sy DC = 13 S5 4
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Choose the Venn dlagram that
shows (A N RY shaded
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